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.     Harder Binomial - Conditional    .
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The probability a chair breaks when Goldilocks sits on it is 0.3

She enters a room with a row of 8 chairs…









1) Given that less than 4 chairs broke, find the probability that 2 chairs broke.

[image: image3.jpg]



2) If more than 3 chairs broke, what is the probability that 4 chairs broke?

3) If at most 4 chairs broke, what is the probability that at least 2 broke?

 4) If there were some chairs broken, find the probability that it was less than 3
.     Finding ‘p’ (possible topic)     .
When we are given P(x=0)

eg P(X = 0) = 0.44   If n = 10 find the value of ‘p’

P(X = x) =   nCx × px × (1 – p)n-x       
P(X = 0) =   10C0 × p0 × (1 – p)10-0    = 0.44  

1) If the probability that some chairs were broken was 80%, find the probability of a chair being broken. (from a row of 10 chairs) 

2) In a different room with 12 chairs, the probability of no broken chairs is 73%
Find the probability of at least 2 chairs being broken.

.     Calculating ‘n’ (possible)    .
Finding ‘n’
How many bowls are needed so that P(at least 1 bowl too hot) > 0.95

The probability a bowl is too hot is 0.8

Often given the information in the form P(at least 1) > some value
Change this to P(x ≥ 1) > 0.95 then

P(0) < 1– 0.95 













P(0) < 0.05

 P(X = x) =   nCx × px × (1 – p)n-x       

 P(X = 0) =   nC0 × 0.80 × (1 – 0.8)n-0 < 0.05                         Using Logs!

     =     1 ×   1    ×     (0.2)n < 0.05      so we solve  (0.2)n < 0.05

















































































































































Σ (new) Ex 21.03


(old) Ex 15.03
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